
   Adding Decimals and Whole Numbers – 1  
 
Find the sum. 

1. 50 + 5.3 + 27.9 =       8. 31.9 + 80.06 + 17.24 = 
 
 
 
 
2. 75 + 0.6 + 0.73 =      9. 95 + 0.5 + 15.9 = 
 
 
 
 
3. 84 + 20.2 + 3.5 =       10. 82.6 + 3.92 + 17 = 
 
 
 
 
4. 29.4 + 5 + 3.85 =      11. 34 + 4.05 + 15.35 = 
 
 
 
 
5. 36.9 + 10.8 + 40.2 =     12. 56.9 + 34 + 2.098 = 
 
 
 
 
6. 34.8 + 72.3 + 9.4 =      13. 37 + 3.43 + 17.5 = 
 
 
 
 
7. 64 + 85.7 + 20.6 =      14. 89.4 + 25 + 0.87 = 
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                              Adding Decimals and Whole Numbers – 2  
 
Find the sum. 

1. 82.45 + 17 + 3.8 =     8. 94.8 + 32.92 + 84 =  
 
 
 
 
2. 78.9 + 20 + 3.73 =     9. 200.9 + 5.96 + 17 =  
 
 
 
 
3. 94.8 + 13.5 + 85 =     10. 410.84 + 246.9 + 190 =  
 
 
 
 
4. 100.5 + 20.95 + 17 =    11. 46.05 + 71.9 + 21 =  
 
 
 
 
5. 38.7 + 0.09 + 24.1 =    12. 37 + 5.76 + 1.009 =  
 
 
 
6. 48.7 + 15 + 28.98 =     13. 35.89 + 24.9 + 12 =  
 
 
 
 
7. 20 + 2.58 + 73.8     14. 74 + 0.87 + 12.3 =  
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ANSWER KEY - 1 
 
1. 50 + 5.3 + 27.9 = 83.2     8. 31.9 + 80.06 + 17.24 = 129.2 
 
2. 75 + 0.6 + 0.73 = 76.33     9. 95 + 0.5 + 15.9 = 111.4 
 
3. 84 + 20.2 + 3.5 = 107.7     10. 82.6 + 3.92 + 17 = 103.52 
 
4. 29.4 + 5 + 3.85 = 38.25     11. 34 + 4.05 + 15.35 = 53.4 
 
5. 36.9 + 10.8 + 40.2 = 87.9     12. 56.9 + 34 + 2.098 = 92.998 
 
6. 34.8 + 72.3 + 9.4 = 116.5     13. 37 + 3.43 + 17.5 = 57.93 
 
7. 64 + 85.7 + 20.6 = 170.3     14. 89.4 + 25 + 0.87 = 115.27 
 
 
ANSWER KEY – 2 
 
1. 82.45 + 17 + 3.8 =103.25     8. 94.8 + 32.92 + 84 = 211.72 
 
2. 78.9 + 20 + 3.73 = 102.63     9. 200.9 + 5.96 + 17 = 223.86 
 
3. 94.8 + 13.5 + 85 = 193.3     10. 410.84 + 246.9 + 190 = 847.74 
 
4. 100.5 + 20.95 + 17 = 148.45    11. 46.05 + 71.9 + 21 = 138.95 
 
5. 38.7 + 0.09 + 24.1 = 62.89     12. 37 + 5.76 + 1.009 = 43.769 
 
6. 48.7 + 15 + 28.98 = 92.68     13. 35.89 + 24.9 + 12 = 72.79 
 
7. 20 + 2.58 + 73.8 = 96.38     14. 74 + 0.87 + 12.3 = 87.17 
 
 
 
 


